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ENGLISH VERSION

A company needs Rs. 6,00,000 to invest in a new project.

The following of three financial plans ave feasible.

(1) The company may issue 60,000 equity shares at Rs. 10

per share.

(2) The company may issue 30,000 equity shares at Rs. 10
per share and 12% 3,000 debentures at Rs. 100 each.

(3) The company may issue 30,000 equity shares at Rs. 10
per share and 12% 3,000 preference share at Rs. 100

each.

If the company's profit before interest and taxes are
Rs. 12,000, Rs. 24,000, Rs. 48,000, Rs. 72,000 and Rs. 1,20,000
respectively, what are the earnings per share under each of
the financial plan ? Assume Income-tax rate is 50% give your

opinion.

OR

¥

¥
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Aditya Trading Company Ltd. has the following balance 14

sheet.
Liabilities Amount | Assets Amount
Rs. Rs.
Equity share capital Land and Building 8,00,000
Rs. 10 per share 16,00,000 | Plant and Machinery| 17,00,000
10% debenture 12,00,000 | Furniture 2,00,000
Retained earning 5,00,000 | Stock 5,00,000
Creditors 1,60,000 | Debtors 2,00,000
Bills Payable 40,000 | Cash 1,00,000
35,00,000 35,00,000

Other Information :

Sale Rs. 8,00,000; Operating expenes Fixed Rs. 1,20,000 and
Variable Rs. 1,60,000, Earning before interest and tax
Rs. 5,20,000. Tax rate is 50%.

Determine the degree of operating financial and combined

leverages at the current sales level.

If total assets remain at the same level but sales increase

or decrease by 20% what will be the earning per share ?

Rajshree Limited Company is considering investing in a

14

project requiring a capital outlay of Rs. 10,00,000 forecast

for annual income after depreciation but before tax.

Year Rs. Present value
factor at 10%

1 5,00,000 0.909

2 5,00,000 0.826

3 4,00,000 0.751

4 5,00,000 0.683

5 3,00,000 0.621
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Tax Rate — 50%
Estimated life — Five years
Estimated scrap value — Zero
Decide profitability under foliowing methods :
(1) Average rate of return
(2) Net present value method
(3) Profitabilty Index
Discount rate 10%.
OR

2 A company is considering on investment proposal to 14
install new machine. The project will cost Rs. 3,00,000. The
estimated life is five years. The company's tax rate is 55%.

The firm use straight line method of depreciation. The
estimated cash flow before tax from the proposed investment

proposal are as follows :

Year| Cash flow | Presentvalue | Present value
before tax factor at 6% factor at 7%
1 60,000 0.943 0.935
2 66,000 0.890 0.873
3 | 84,000 0.840 0.816
4 90,000 0.792 0.763
5 1,50,000 0.747 0.713

Complete the following :
(1) Average Rate of Return (ARR)
(2 Internal Rate of Return (IRR)
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Write a note

@8

(1) Functions of cash management
(2) State the methods of preparing cash budget.
OR

3 Explain the importance of cash management and discuss

the factors determining cash need.

4  What is receivable management ? What are the costs of

maintaining receivables.
OR

4 (1) Write a note : Optimum Credit Policy.

14

14

14

14

(2) Write a difference between liberal and strict credit

policies.

5  What is inventory management ? Write objectives and

importance of inventory control.
OR

5  Explain determining of various inventory levels.
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